1
Y
wn
S
-
o
)
N

H2fcy 4t

KO

2,741

2,741

O
]

F7hxI%

KO

K-

<r
K+

|

KO

11,746

11,746

K-

<r
K-

14,487

14,487

4

Hejoyl ot

Hio
<0

b

2. op%

200

150

100

50

8.00%

5.33%

267%

0.00%

-2.67%

-5.33%

2

-50 +

-100

-150 +

-200

-250

~
ofl
pr

219

3. A|lL}E2| 280

~
ofl
et

1,342

4. Z| &4 2N (VaR : 99%, 10Y)

oh
]

.

E3AER}



1
Y
wn
S
-
o
)
N

H2fcy 4t

KO

-6,386

6,386

O
]

F7hxI%

KO

K-

<r
K+

|

KO

6,400

6,400

K-

<r
K-

14

6,386

6,400

7l

2t

Hejoyl ot

Hio
<0

b

2. op%

400

200

8.00%

5.33%

267%

0.00%

-2.67%

-5.33%

2

-200

-400

-600

~
ofl
pr

509

3. A|lL}E2| 280

~
ofl
o

387

4. Z| &4 2N (VaR : 99%, 10Y)

oh
]

.

E3AER}



1
Y
wn
S
-
o
)
N

H2fcy 4t

KO

170

175

345

K-

<r
K+

|

KO

4,228

571

4,799

K-

<r
K-

KO

O
=

|

KO

-655

655

O
]

/I5#

3,573

1,226

4,799

4

Hejoyl ot

Hio
<0

b

2. op%

15
10

8.00%

5.33%

2.67%

0.00%

-2.67%

-5.33%

-8%

-10

-15 4

-20

~
ofl
pr

14

3. A|lL}E2| 280

~
ofl
et

315

4. Z| &4 2N (VaR : 99%, 10Y)

oh
]

.

E3AER}



o
=
=3
=
ar
o
[=}
o
1]
<
i)
|

2021-05-21

H2fcy 4t

KO

602

602

K-

<r
K-

KO

O
=

|

KO

-40

40

O
]

87153
F7HR|%

2|

N

|

KO

1,399 107

1,505

F7HxI4

668

1,439

2,107

K

ol

7l &

3

od

Hefjofl m2

Hio
<0

b

2. T

10 +

8.00%

5.33%

2.67%

0.00%

-2.67%

-5.33%

-8%

-10 +

-15

~
ofl
pr

11

3. AlLtE| 2 Eo

~
ofl
et

117

4. Z| &4 2N (VaR : 99%, 10Y)

ofo
oh
<

.

E3AER}



